

MOR CONSTRUCTION, INC 621 EAST BAYLES CHAPE CULUMBIA, MS 19429 PHONE GOL 701 2716 FAX: 601 791 2774

November 26, 2018

Mr. Clint Brown Flordia Public Utilites

Week Ending November 25, 2018

Foreman Johnny Martin

Name Post Storm – FE18904697S

Total 2,178.00 3,696.00 1,518.00
3,696.00 1,518.00
3,696.00 1,518.00
1,518.00
2,838.00
10,230.00
Total
726.00
3,036.00
1,518,00
495.00
5,775.00
16,005.00

PR #: O CCO
Date Rovd: 12-6-18
Received By: JR
Scanned Date: 12-8-18
Processed By: J Roye

ммимоноворменения, пон-



Foreman	Johnny Martin	Job No	Hourly
Week Ending	11/25/2018	Location	Florida Public Utilities

	Men a	nd Ho	urs		TOWN OF THE ALL			To	tals			
Weekday	19	20	21	22	23	24	25			Meals	Motel	Other
Employee Name	M.	T	W	T	F	S	S	RT	ОТ			
Johnny Martin	13	14	6					-33				Foreman
Shane Rankin	13	14	6		1	I I I	W	33		The state of the s	introduction of	Lineman
Brendon Lawshe	13	14	6					33				Lineman
Don Moree	13	14	6		and private in the state of	1	-24,000,000,000	33	122225	10000114500	3/23/-ABSE-	Operator
loey Dantin	13	14	6					33				Groundman
ayton Monk	13	14.	6				1,420,12,120,120	33		31191.3.3.41.5	2015/12/12	Groundman
re (11) 10 de la 180 de 18 Notas de 180												37.4
		18 (18 (18 (18 (18 (18 (18 (18 (18 (18 (gita and the same of the same
gV (i												

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, Indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information									
Monday	6:30 AM - 8:00 PM									
Tuesday	6:30 AM - 9:00 PM									
Wednesday	6;00 AM - 12;00 PM									
Thursday										
Friday										
Saturday										
Sunday										

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

EQUIPMENT											
Equipment#	M	T	W	T	F	S	\$	To	From		
681 Crew Cab Pickup	13	14	- 6		2	i i k					
591 Malerial Handler Bucket	13	14	6			The state of the s					
638 Material Handler Bucket	13	14	6								
418 Digger Derrick	13	14	6	and the production of	143424345	227023458	233320251;	Description of the second control of the sec			
315 Pole Trailer	13	14	6.								
		30						Brook of the second	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		
		11 m									

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night, Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer. Weekly Timesheet

MDR Construction

Foreman School Construction Nob No Week Ending 11-25-18

F# -		
ro	rem	เลก

Location Public Untillicay

A 10 10 10 10 10 10 10 10 10 10 10 10 10	Men a	Totals		2	111111111111111111111111111111111111111																
Wenkday	19	20	21	1000					************												Other
Employee Name	M	7	W	T	F	8	8	RY	OT'	Meals											
Tolony Martin	13	14	6	计数数		(4).A	1,	1996	4 (3)/0	8	P. P. Park Strain Street										
There Karker		14	6		WE	433			N	8											
Oxiveor Lawike	13	14	0					编译	潮湖	8	N. WESTER										
Prej Parlin	13	14	63	980			. : : : : : : : : : : : : : : : : : : :		ĸijŖŢŔ ĸijŖŖŔ	8											
Dow Moree	13	14	6			(2) *		湯料	44	8											
estor Monk	13	14	6			884F	103 103			15%											

In this spaces provided above tist all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero, if one of your craw members worked with another Forenten, indicate this by putting the other Forenten's initials in the corresponding space.

Please add up the total hours for each employee and indicate any hours over 40 as overlime, if you worked on more than one job during the week please specify days on each job under Additional Information. Divice time should be represented under Other, Please provide specifies for multiple

Job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

AddItional Information	
Mondey Gistan - Series 27/11/2000	
Tuesday CifoAn - 9.75	113 Viet de Nove de 124 - per la 200 m
Wednesday 6 Po AN - 10 M	
Thursthy Education and the relative and	วิทย์เลียงสมรัชสายเกรีย์เลียงกับสาร 2004 (สาร์เกราร์กระหวาง
Transfer of the second of the	
Saurany Amendiantany	NAS ERONA ANSKANĖS VIII SKVEIDAS SUOS

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job Is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

	EQUIPMENT											
Equipment Ik	I M	TWT] F	\$ 8.	to the state of th							
OST YORY												
591 Briket	assistant testelah ast	solidas controla	ر نداخیوم کارد	e Ekselneria ele	as think the analytical transmission of an every contract of							
628 - 1924 et				的概要								
418 Digies	905200 kunonol 635	iemikiai morem	u ozajesku	168025-163351	Carlina anni maria an' an' an' an' an' an' an' an' an' an							
SP CARELONIAN				Nalawy								
uon aroismai kirimas	madeanka	socializacido as	a yasana wa	5000 30056	walno kao kao kao kao kao kao kao kao kao ka							
		80. 2.34.	PETER SIN	AND VINCEN								
tika en sterika (ottoka)		arkiyasi daya	dagaalaa	303 248A								

Please include in the spaces provided the number of meals for each member of the crew for the entire week, it is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are callilled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays, Also, a meet will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer,

MDR Construction

Wookly Timesheet



- 1	~	_	-	-			
	-	m	7	Δ	n	R	ın

Location Public Untilizary

Men and Hours										S	
Weekday	19	20	21							l o	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ	als	
Johnny Martin) 3	14	6					\$000 (00) \$000 (00)		8	
Shave Raskin	13	14	6							82	
Bravelov Lawshe	13	14	6				7 - 1 - 1 1 - 1 2 - 1			8	
Jeey Partir	13	14	6				\$1.\\$ \$1.1\$			8	
Oon Moree) 3	14	6				Ş4@			8.	
Lapton Monk	13	141	6				WW			8	

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space, Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information, Drive time should be represented under Other. Please provide specifics for multiple Job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet,

Additional Information									
Monday 63.Am - 8.Pm 5 Michael									
Tuesday C:30AM - 9 mm She Lunch Wednesday 6:50AM - 12018h									
Thursday									
Friday Saturday									
Sunday									

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular lob please give specifics for each,

	EQUIPMENT										
Equipment#	MI	WT	F	3	S						
CSI Pickep	13 11	P									
591 Bucket 638 Bucket	13 Juli 13 Ju										
418 Digger 38 Pole Trailor	13 1	16									
						DESCRIPTION OF THE PROPERTY OF					

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays, Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



621 EAST HAYLIS CHAPL CELUMBIA, MIS 39425 PHENRE 601 901.8716 FAX: 601 781 2774

November 26, 2018

Mr. Clint Brown Flordia Public Utilites

Week Ending · November 25, 2018 Foreman Wesely Matheny

Name Post Storm - FE18904697S

Overtime		Qty	Price	Total
Foreman		27.50	66.00	1,815.00
Lineman		55.00	56.00	3,080.00
Operator/Truck D	river	27.50	46.00	1,265.00
			Total Men	6,160.00
<u>Equipment</u>		Qty	Price	Total
Crew Cab Pick-up	6 1233 /	27.50	22,00	605.00
Material Hndler Bu	icket 57'	27,50	46.00	1,265.00
Digger Truck		27.50 ,	46.00	1,265.00
		То	tal Equipment	3,135.00
		Tot	al Due to MDR	9,295.00

WWW WINDSHOWERS OF STREET

PR#: 0 6 2 C Date Rcvd: 12-12-18 Received By: 2 C Scanned Date: 12-8 Processed By: J Roye



Foreman	Wesely	Mathe	ny	c	ON	STF	R/U C	国 ` T I	Job N	lo			Hourly
Week Ending	11/25	/2018							Locat	ion		FI	orida Public Utilities
		Men ai	nd Ho	urs				**********	Tot	tals	T T		Marie Company
Weekd	ау	.19	20	21	22	23	24	25			Meals	Motel	Other
Employee Name		M	T	W	7	F	S	ş	RT	OT			
Wesely Matheny		13	12.5	2					27.5		Page 1		Foreman

	Men ai	nd Ho	urs	*******				То	tals			
Weekday	.19	20	21	22	23	24	25			Meals	Motel	Other
Employee Name	M	T	W	7	F	S	S	RT	OT			Ĭ
Wesely Matheny	13	12.5	2	9.37 (4)				27.5		Part of		Foreman
Dakoda Hudson	13	12.5	2				1100.000	27.5	TOWN COLUMNIES.	anyonese	SANCTHURS.	Lineman
Justin Guthrie	13	12.5	2	and the				27.5		100 TO 10	Service Subsection	Lineman
Hunter Guthrie	13	12.5	2		C.1,30. q.2,1,2	1.0000000000000000000000000000000000000	110-23.722.74(27.5	2000-02		2424,9555	Operator
								100				Power and the second second
		20 KG	on the loo				10 S.					
		8		Alp Tare		•						Kanada arang ar
								55 5				

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reporting meals is located at the bottom of this sh

	Additional Information								
Monday	FIRE THE PLANT OF THE PARTY OF								
Tuesday									
Wednesday									
Thursday									
Friday									
Saturday									
Sunday									

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each

EQUIPMENT										
Equipment #	,M	T	W	۲	F	S	S	To	From	
550 Crew Cab Pickup	13	12,5	2		7 (5)			100	one of the state of the state of	
671 Material Handler Bucket	13	12.5	2	ALLANDONS .	(artistation	1	STATES SALES			
Digger Derrick 3 100 100 100 100 100 100 100 100 100 1	13	12,5	2							
			E e la				1954 (1) 1954 (1)			
		40.7								

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

Weekly Timesheet

MDR Construction

MPR

Foreman Wesley Mathins

Mathery CONSTRIUCTION Job

Wook Ending 1/2/7~	1021	Loca	tion	Mg	Marianna, FL						
	Mon a	Tot	a/s	=							
Weekday								11.		Meals	Other '
Employoe Name	M.		W,,	Ţ	F	S	8	RY	OT.	is	
LWesley, Wolkeriy		028	2.8	7/8X	110/1	政议		27/5		18	8/2/2/2014/19/2/2014
Dakvila Hulson	13.00	12.5	2 Intion	oticentat	221503.54	tore e sole	anta de	27.5	30.244	8	the second second
and had a middle fine	1737	12.5	20	腦點		MAN		27.6			
Hunter Gulheis	13 102061	12.5	200	ક્ષામાં કરતા. આ મામ	, Rakan	Sec. 14	-"caa	27.6	Selvania.	8	
		393)18	物制	formi	Report 1	學到	y de	HEAR	1.0	1884	
	asoat.	V. C.	5.78M	Welsth	zeirai	(A) (A)	ंदेख	3377 8	W.1437	rdn/sa	SGOVERNUE : SENER
inner erektroner hitzer	DOM:	於有限	Chilli	NEW!	Maria K	33.11.	224			1074X	
	188	Wall.	2011	RAIR	RECT.	ZENIK	818	SOME.	MOR.	PX950	Mariticules : (Charleton)
ACONA SINGA SI MUNINGKA PANGKAN SINGA PANGKA	astonal :	00/42/17	C. 2001-0	anacity	HANNE.	京公房 [3]	23002	SHERE	Chai	TANK.	Aller Control of the
	NAME	屬納	(1931)	168812	Harila	NA PR	SE PROPERTY OF THE PROPERTY OF	關當他		0.82	\$ 0.076\$ \$\$\$\$\$.00000000000000000

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overfline, if you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information, Regulations for reparting meals is located at the bottom of this sheet.

Additional Information								
Trinoday								
<i>Vadnespoy</i> (1)								
Thursday Thursday								
Saturday 1000 y 2000 y								

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each.

and the state of t			E	QUIPM	ENT		
Equipment II	M	TW	T	F	8	8.	
		126 2					
Rucket #	113	12.5 2		LA FESTAL	Carra ar	iamacas	Wisher's Dunter
				网络	親深		
HIS OF THE PARTY O	Sept.	han an comme	som or	XXXXXIII (2	MONIAY!	TASKED	ASSESSMENT AND ASSESSMENT AND ASSESSMENT ASS
		THE REAL PROPERTY.			WAS ST	A CONTRACTOR	
	MENTE:	TEAL SEAL	NATURAL S	E CONTRACTOR OF THE CONTRACTOR	#133.71.1	SERVE	
	330 FE	ACKS STEED HERD	WEST	EX.	HEAVER	KANTRAL	warmed our world Secure of the secure or one
		和無機動		MIN			
	· ·	CONTRACTOR OF THE PARTY OF THE	CONTRACTOR OF	HOTEL STREET	rearried 6	etistrin	The state of the s
Year and the second							

Please include in the spaces provided the number of meets for each member of the crow for the entire week. It is company policy to pay a maximum of lines meats per day for craws working out of town. Craws that drive to their job on Sunday are entitled to one meat for that night, Model for Monday mornings will not be paid for craws leaving from home on Mondays. Also, a meet will not be paid for the afternoon of the last day of the work week. Please report your meets each week according to these guidelines. All meets for employees on storm work should be charged on the foreman's credit card, unless meets are supplied by the customor.

MDR Construction

Wookly Timesheet



MOR CONTRUCTION, INC 621 EAST BAYLIS CHAPEL COLUMBIA, MS 89429 FRONE: 601.731.2716 FAX: 501.731.2774

November 30, 2018

Mr. Clint Brown Flordia Public Utilites

Foreman Brian Chambley Wesely Matheny



Invoice # 14-23245
Week Ending December 2, 2018
Name Post Storm — FE18904697S

Amount 24,520.00 9,859.00

Total Due to MDR

\$34,379.00

WWW WDINDOMERTINE DOM



MDR DONSTRUCTION, INC 621 EAST SAYLIS CHAPL GCILUMBIA, MS 39429 PHONE 601,731,2716 FAX: 601 731 2774

November 30, 2018

Mr.	Clint	Brov	vn
Flor	dia P	ublic	Utilites

Week Ending December 2, 2018

Foreman Brian Chambley

Name Post Storm – FE18904697S

				1
Regular Time		Qty	Price	Total
Foreman		40.00	66.00	2,640.00
Lineman		80.00	56.00	4,480.00
Operator/Truck Driver		40.00	46.00	1,840.00
Groundman		80.00 。	43.00	3,440.00
		Tota	al Regular Time	12,400.00
Over Time		Qty	Price	Total
Foreman	-)	8.00	99.00	792.00
Lineman		16.00	84.00	1,344.00
Operator/Truck Driver		8.00	69.00	552.00
Groundman		16.00	64.50	1,032.00
	4,200.00		Total Overtime	3,720.00
Equipment		Qty	Price	Total
Crew Cab Pick-up		48.00	22.00	1,056.00
Material Hndler Bucket 57'		96.00	46.00	4,416.00
Digger Truck	4.00.00	48.00	46.00	2,208.00
Pole Trailer	7.3022)	48.00	15.00	720.00
	-,)	Tota	l Equipment	8,400.00
		Total	Due to MDR	24,520.00



For	em	an
-----	----	----

Brian Chambley

Job No

Hourly

Week Ending

12/2/2018

Location

Florida Public Utilitles

	Men ar	nd Hou	ırs					То	tals			
Weekday	26	27	28	29	30	1	2			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			
Brian Chambley				12.5	12.5	11	-12	4(0)	8			Foreman
Will Ford				12.5	12.5	11	12	40	8	C April Con	Similar	Lineman
Shane Rankin				12.5	12.5	-11	12	40	8			Lineman -
Charles Freeman				12.5	12.5	11	12	40	8	Canal in it readings	100 CO/-	Operator
Humor Guthrie				12,5	12.5	411	12	40-	8			Groundman
Ryan Williamson		THE RESIDENCE		12.5	12.5	11	12	40	8	Charges being:		Groundman
		CENT TREE OF STREET			(err numer et er abs		To the special of	PHILIPHPY -CIEC	-06-1-5	A ROBOTON		
			3 1100 11,000		, 10 mm							

In the spaces provided above list all employees' full name and hours worked, Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information
	3000 mark 1, 1 pt. 400 mark 1,
6:00 AM - 6:30 PM	
6:00 AM - 6:30 PM	
6:00 AM - 5:00 PM	
6:00 AM=6:00 PM	
	6:00 AM - 6:30 PM 6:00 AM - 5:00 PM

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

					EQUII	PMEN	T
Equipment #	M	T	W	T	F	S	S
606 Crew Gab Pickup				12/5	1/2,5	: (c)	12
588 Material Handler Bucket				12.5	12.5	11	12
558 Material Handler Bucket				12.5	12.5	11	12
Digger Derrick				12.5	12.5	11	12
483 Pole Trailer				12.5	12,5	11.	12
			Supplied Chairm	12.5	12.5	11	12

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet



Foreman _	Brian Chambley	CONSTR/UCT	Job No		
Week Ending _	12/2/2018		Location	FP	U
	Men and H	ours	Totals	3	2007

	Men and Hours								Totals		100-711
Weekday					1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	X. S.	Control on the Contro		:11	Mea	Other
Employee Name	M	T	W	T	F	\$	S	RT	ОТ	is	
Brian Chambley				12.5	12.5	11	12	40	8		
Will Ford				12.6	12.5	11	12	40	8	-	
Shane Mitchell				12.5	12.5	11	12	40	8	17-12.01	
Charles Freeman				12.5	12.5	11	12	40	8		
Hunter Guthrie				12.5	12.5	11	12	40	8		
Ryan Williamson				12.5	12.5	11	12	40	8		
			-								Marie Company
			بروجنته			- Marin			-	-	
	الللا										

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other, Please provide specifics for multiple life days in Additional Information. Requisitions for registring meals is located at the bettom of this sheet.

	Add	itional Information
Monday		
Tuesday		
Wednesday		
Thursday	6:00 -6:30	
Friday	6:00 -6:30	
Saturday	6:00 -5:00	
Sunday	6:00 -6:00	

List above any additional information needed, if you work on several circuits specific how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular lob please give specifics for each.

EQUIPMENT										
Equipment#	M	τ	W	T	F	S	S			
Pickup 636			1	12.5	12.5	11	12			
Bucket 588				12.5	12.5	11	12			
Bucket 558				12.5	12.5	11	12			
Digger 803				12.5	12.5	11	12			
Pole Traller 483			72	12.5	12.5	11	12			
the distribution of the state o										
					A Waterman, Arr	Difference of the				
		- Second	-							

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet

Ç-101



MOR CONSTRUCTION, INC 621 EAST SAYLIS CHAPE COLUMBIA, MS 39429 PHONE, 601-721-2716 FAX: 601-721-2774

November 30, 2018

Mr. Clint Brown
Flordia Public Utilites

Week Ending December 2, 2018
Foreman Wesely Matheny
Name Post Storm – FE18904697S

Regular Time	Qty	Price	Total
Foreman	40.00	66.00	2,640.00
Lineman	40.00	56.00	2,240.00
		Total Regular Time	4,880.00
Over Time	Qty '	Price	Total
Foreman	9.00	99.00	891.00
Lineman	9.00	84.00	756.00
		Total Overtime	1,647.00
Equipment	Qty	Price	Total
Crew Cab Pick-up	49.00	22.00	1,078.00
Material Hndler Bucket 57'	49.00	46.00	2,254.00
		Total Equipment	3,332.00
		Fotal Due to MDR	9,859.00



Foreman	Wesely Matheny	Job No	Hourly
Week Ending	12/2/2018	Location	Florida Public Utilities

	Men ar	nd Hoi	ırs			-		То	tals			h
Weekday	26	27	28	29	30	1	2			Meals	Motel	Other
Employee Name	M	T	W	T	F	S	S	RT	OT	.110		
Wesely Matheny				12	12	(2)	13	40	9			Foreman
Chris Czodli				12	12	12	13	40	9			Lineman
					1000							
·				The second particular section	American State of the State of	visitilinanii ina desi	P. Sarre P. Vigartinia P. V.			Silbella Provincialist.		THE PARTY OF THE P
						I ALLENDAN TO						
THE PARTY OF THE P	The last contract of	and market at the						Ž. in 121		Market		
						tani kuma ,*						
				7.7.						The second second		
			10.74									
								95 Ames				

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's Initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

	Additional Information
Mionday	
Tuesday	
Wednesday	
Thursday	
Biday - 1	
Saturday	
Sunday	

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day. If a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

	EQUIPMENT											
Equipment #	M	T	W	T	F	S	S	To	From			
550 Crew Cab Pickup				12	12	1/2	13					
371 Material Handler Bucket		and a series		12	12	12	13					
		wi In					4 7 4					
						,						
						netwice the same						
		iname ou vicini				es mila						

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

Weekly Timesheet

MDR Construction



Foreman	Wesley Matheny	_ _	0	N .	S	T	R/U	Ç	T	1	o	oM doL ^M	1		•
Week Ending _	12/2/2018											Location		FPU	
		=		 -	-	-		-	-	-	-				-

	Men ar	nd Ho	urs					To	tais	22	
Weekday										Meals	Other
Employee Name	М	T	W	Ŧ	F	\$	8	RT	OT	15	
Wesley Matheny				12	12	12	13	40	9		
Chris Czoldi				12	12	12	13	40	9		enterviewe (new policy and the selection of the selection
								j			
										 _	THE SECOND STREET
			-						-	<u></u>	
								-			
			Charles Annie and		-	-					
										<u> </u>	C. Università de la companya del companya de la companya del companya de la companya del la companya de la comp

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with anciher Foreman, indicate this by putting the other Foreman's initiats in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple tob days in Additional Information. Regulations for reporting meals is located at the bettom of this sheet.

	Add	tional Information	A SAN THE PARTY OF
Monday			
Monday Tuesday			
Wednesday	er de minimi de minimi de de de mentre de la companya de la companya de la companya de la companya de la compa		
Thursday			Control of the second s
Thursday Friday			
Saturday	Comments of the Comments of th		And the state of t
Sunday			

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or fob is completed please make note of that. If part of the day was storm and part of it was your regular job please give specifics for each,

			1	EC	UIPM	ENT	
Equipment#	M	T	W	T	F	8	S
Pickup 550				12	12	12	13
Bucket 671				12	12	12	13
						land-windfill	
			and observed a				
			-				
		Situation of the Parket					<u> </u>

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheat

Circle

Headound updated 2/14 Para San Updated 2/14



MOR CONSTRUCTION, INC. 621 EAST BAYLIS CHAPE COLUMBIA, MS 39422 PHONE' 601 701 8716 PAX: 601 781,8774

December 10, 2018

Mr. Clint Brown Flordia Public Utilites Invoice # 14-23287 Week Ending December 9, 2018

PR #:_

Date Rovd: 2-4-9 Received By: 32 Scanned Date: 2-4-19

Processed By: J Roye

Foreman Johnny Martin Brian Chambley Wesely Mathaney Amount 47,560.00 22,920.00 8,604.00

Total Due to MDR

\$79,084.00

WWW HURPEWERLINE GOM



MOR CONSTRUCTION, 174 621 EAST BAYLIS CHAPL COLUMBIA, MS 39425 PHONE: 601 721 8716 FAX 601 731 2774

December 10, 2018

Mr. Clint Brown Flordia Public Utilites

Invoice # 14-23287 Week Ending December 9, 2018

Foreman Johnny Martin Brian Chambley Wesely Mathaney

Amount 47,560.00 22,920.00 8,604.00

Total Due to MDR

\$79,084.00



MOR CONSTRUCTOR 164 621 EAST BAYUS CHAPL COLUMBIA, MS 16429 PHONE 601 734 2716 FAX 601 731.2774

December 10, 2018

Mr.	Clir	ıt	Brov	vn	
Flor	dla	PI	ublic	Utilites	

Week Ending December 9, 2018
Foreman Johnny Martin
Name Post Storm – FE18904697S

Regular Time		Qty	Price	Total
Foreman		40.00	66.00	2,640.00
Lineman		80.00	56.00	4,480.00
Operator/Truck Driver		40.00	46.00	1,840.00
Groundman	j	80.00	43.00	3,440.00
			Total Regular Time	12,400.00
Over Time	1	Qty	Price	Total
Foreman	1	44.00	99.00	4,356.00
Lineman)	88.00	84.00	7,392.00
Operator/Truck Driver	1	44.00	69.00	3,036.00
Groundman)	88.00	64.50	5,676.00
			Total Overtime	20,460.00
Equipment		Qty	Price	Total
Crew Cab Pick-up		84.00	22.00	1,848.00
Material Hndler Bucket 57'	7,72	168.00	46.00	7,728.00
Digger Truck),)	84.00	46.00	3,864.00
Pole Trailer	1,770.00	84.00	15.00	1,260.00
sadayilga sa	,)		Total Equipment	14,700.00
			Total Due to MDR	47,560.00



Foreman	Johnny Martin	С	0	N	S	Т	R/U	C	T	i	Job No	
											D 0 11 1 1 0 10	-

Week Ending 12/9/2018 Location Florida Public Utilities

	Men ar	nd Hot	urs					To	tals			
Weekday	3	4	5	6	7	8	9	and the second		Meals	Motels	Other
Employee Name	M	T	W	T	F	S	S	RT	ОТ			- 11. (40.000)
Johnny Martin	_12	12	12	12	12	12	1/2	40=	44			Eoreman
Shane Rankin	12	12	12	12	12	12	12	40	44			Lineman
Brandon Lawshe	12	12	12.	12	12	12	12	40	44			Lineman
Don Moree	12	12	12	12	12	12	12	40	44			Operator
Joey Danlin	12	12	12	12	12	12	12	40	44			Groundman
Layton Monk	12	12	12	12	12	12	12	40	44	;		Groundman
1		······································		<u>,</u>		della company		304	e tire and the		-	
		A DYNA			was daily sta							
	朝。嗣											Total

In the spaces provided above list all employees' full name and hours worked. Days missed by an employee should be marked with an X and not a zero. If one of your crew members worked with another Foreman, indicate this by putting the other Foreman's initials in the corresponding space. Please add up the total hours for each employee and indicate any hours over 40 as overtime. If you worked on more than one job during the week please specify days on each job under Additional Information. Drive time should be represented under Other. Please provide specifics for multiple job days in Additional Information. Regulations for reporting meals is located at the bottom of this sheet.

		Additional Information
Monday	6:00 AWE630 PM	
Tuesday	6:00 AM - 6:30 PM	
Wednesday	6:00 AM - 6:30 PM	
Thursday	6:00 AM - 6:30 PM	
Friday	6:00 AM=6:30 PM	
Saturday	6:00 AM - 6:30 PM	
Sunday	6:00 AM 76:30 PM	

List above any additional information needed. If you work on several circuits specify how many hours on each circuit for each day, if a circuit or job is completed please make note of that, if part of the day was storm and part of it was your regular job please give specifics for each.

					EQUI	PMEN	T
Equipment#	_M	T	W	T	F	S	S
681 Orew Cab Plokup	40	12	12	12	12	12	1/2
581 Material Handler Bucket	12	12	12	12	12	12	12
691 Material Handler Bucket	12	12	12	12	12	12	12
801 Digger Derrick	12	12	12	12	12	12	12
SYG Pole Trailer	12	12	12	12	12	12	12
				3)-3			
		12000					

Please include in the spaces provided the number of meals for each member of the crew for the entire week. It is company policy to pay a maximum of three meals per day for crews working out of town. Crews that drive to their job on Sunday are entitled to one meal for that night. Meals for Monday mornings will not be paid for crews leaving from home on Mondays. Also, a meal will not be paid for the afternoon of the last day of the work week. Please report your meals each week according to these guidelines. All meals for employees on storm work should be charged on the foreman's credit card, unless meals are supplied by the customer.

MDR Construction

Weekly Timesheet

C-101

Hourly

İ	Foreman S	200 x s		ir No.		
	Weekday	Man and Hours	1 - 3 4	Totals		
	Emplayed Name Jahagey Martin	// // // // // // // // // // // // //	THE RESERVE AND DESCRIPTIONS OF THE PERSON NAMED IN POST O	The same of the sa		
	2 2 2 2		12 12 12	40 44 2		THE PROPERTY OF THE PARTY OF TH
		13.16.15.16		10 44		
	34 2425	12 12 12 14 14				
		The Rows		0 11		
		s kst all employees' full name and hour	Design to	(CENTRAL P		
÷.	zero, if one of your crew men Please add up the total hours	a wa ay omployees: hu name and hour mburs worked with another Foreman, a s for each omployee and indicate any h job under Additional Information. Drive	ndicate this by pussing the o sours over 40 as overline. It	ther Foreman's i Lyou worked on		
Streetson	job days	in Additional Information, Regulations	for reporting means is local mal information	ed of the bottom		
	Montey 4	(a = 6111)p 5	NATION IN	12 bi 31.		
	Medicards 200					
		nation needed. Hyon Land 190				
	is completed please ma	ke note of that. If part of the dry was				
	591 Bocket Basil Mosaci 🗏	/2 12 12 14 15 16 16 16 16 16 16 16				
	Digger 801			4		
					11427 273	
						- 7 2
Ple	ase include in the spaces prov				in a second constant of the second constant o	
Sin	rieu mornings will not be paid	d workers cut of myself clean man for proved waving from the control file is each week provided to be seen as				
and the second		Company and care and and		HALLES CO.		
	DR Construction	ing ve	in the distriction			Gar